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Regression report
Date: 2024-06-06 Time: 13-52-06

Summary report

Module Total testcases

copp 12

Testcase Complete Summary: Total: 12, Passed: 12, Failed: 0

Detailed report of copp

Testcase summary: Total: 12, Passed: 12, Failed: 0

Testcase
name Status User Input Commands
test_case_01.1 Passed  Input: {

Commands: [
"copp_groups": [ {
“copp_groups": [
{

"ebst
weipns icbst: 45",
“copp_name": "copp-1", eirt: 4
"queve”: 1, "copp_name": "copp-1",
“trap_action": "DROP", "queue": 1,
“trap priority": 1 “trap_action": "DROP",
3, “trap_priority": 1
{ },
{
“cbs": "90",
“copp_name": "copp-2", eirt: o
“queue”: 2, “copp_name": "copp-2",
“trap_action”: "FORWARD", “queue”: 2,
“trap_priority": 2 “trap_action”: "FORWARD",
“trap priority": 2
1 i
Y 1,
“state": "merged”

Before: {

" copp.
{

file:///home/shade/regression-2024-06-06-13-52-06.html

Before

groups": [

“cbs": "3000",

Tcir': "3000",

“copp_name": "copp-system-arp",
“queue”: 10,

“trap_action": "COPY",

“trap priority": 10

“cbs": "2000",

“cirt: 200",

“copp_name": "copp-system-bfd",
“queue": 20,

“trap_action":
“trap_priorit

“cbs": "10000",

“cirt: 10000

copp_nane’ : copp-systen-bp”
“queue”

“trap_: attmn“ :
“trap_priorit

“TRAP",
14

“copp-systen-dhcp”,

"trap_action": "TRAP",
“"trap_priority": 9

"cbs": "5000",

"cir': "5000",

“copp_name": "copp-system-iccp”,
"queue”: 16,

“trap_action": "TRAP",
“trap_priority": 16

“cbs": "1000",

“cir': "1000",

“copp_name": "copp-system-icmp",
“queue”: 8,

“trap_action": "TRAP",
“trap_priority": 8

“cbs": 200",

“cirt: 200",

“copp_name": "copp-system-igmp",
“queue": 12,

“trap_action": "TRAP",
“trap_priority": 12

“cbs": "6000",

“cir': "6000"

*copp_name": *copp-systen-ip2ne*,
“queue": 7,

“trap_action”: "TRAP",
“trap_priority": 7

"cbs": "500"
et "200"
“Copp_name”: "copp-systen-lacp",
“queue”: 23,

"trap_action”:
"trap_priorit:

"TRAP",
23

“cbs": 500"
Teir': "500"
“copp_name": "copp-system-1ldp",
“queue”: 18,

“trap_action": "TRAP",
“trap_priority": 18

“cbs": "500"
“cirt: 500"

“copp_name": "copp-system-mtu",
"queue":

4,
“trap_action": "TRAP",
“trap_priority": 4

“cbs": "5000",

“cirt: "5000",

“copp_name": *copp-system-ospf*,
15,

“trap_action"

“CoPY",
“trap_priority": 15

"cbs": "5000",

"cir': "5000",

"copp_name”: "copp-system-pim",
“queue": 13,

“"trap_action": "TRAP",

“trap_priority": 13
"cbs": "8000" ,

cirt: ”ﬂoeo”,

"copp_name": "copp-system-sflow",
"queue": 3,

“trap_action": "TRAP",
“trap_priority": 3

“cbs": "16000" ,

“cir': "16000",

“copp_name": "copp-system-stp",
“queue": 21,

“trap_action": "TRAP",
“trap_priority": 21

“cbs": "2000",

“cirt: "2000",

“copp_name": "copp-system-subnet”,
“queue”: 6,

“trap_action":

“TRAP",
“trap_priority": 6

Passed

After

[

“cbst: 45",
ipt: 4t
"copp_name" :
"queue": 1,
“trap_action": "DROP",
“trap_priority": 1

groups

“copp-1",

“cbs": "90",
cirt: "9
"copp_name":
"queue!
“trap_action”:
“trap_priority

“copp-2",

"FORWARD" ,
2

“cbs": "3000",
“cirt: 300",
“copp_name": "copp-system-arp",

10,
“trap_action”: "COPY",
“trap_priority": 10

"2000",

"2000",

"copp_name": "copp-system-bfd",
queue”: 20,
"trap_action": "TRAP",
"trap_priority": 20

"cbs": "10000",

Teir': "10000",

"copp_name": "copp-system-bgp",
"queue!
“trap action”: "TRAP",
“trap priority": 14

"cbs":
relrt:
"copp_
“queue”: 9,
“"trap_action":
“"trap_priority":

"300",
"300",
ame" :

"copp-system-dhcp”,

“TRAP,
9

“cbs":
teirt:
" copp_t
“queue”: 16,
“trap_action": "TRAP",
“trap priority": 16

"5000" ,
"5000" ,
me": "copp-system-iccp”,

]

"cbs": "1000",
"cir': "1000",
“copp_name": "copp-system-icmp”,

8,
"trap_action":

“TRAP",
"trap_priority": 8

"cbs": "2000",
“cirt: 200",
“copp_name": "copp-system-igmp",
"queue!
“trap_action’:
"trap priority

"TRAP",
12

"cbs": "6000",

Teir': "6000,

"copp_name": "copp-system-ip2me",
"queue":
“trap action’: "TRAP",
“trap priority": 7

"cbs": "500",
“eirt: "500",
"copp_name":
“queue”: 23,
“trap_action": "TRAP",
“trap_priority": 23

"copp-system-lacp”,

“cbs": "500",
“cir': "500",
"copp name" :
“queue”: 18,
“trap_action": "TRAP",
“trap priority": 18

“copp-system-1ldp",

“cbs":
teirt:
" copp._t
"queue": 4,

"trap_action”:
"trap_priority":

"500",
"500",

"copp-system-ntu",

"TRAP",
4

"cbs":
cirt:
"copp
"queue”: 1
“trap action”: "COPY",
“trap_priority": 15

"5000",
"5000",
me": "copp-system-ospf",

"cbs": "5600",
"cir': "5000",
"copp_name": "copp-system-pin",
“queue”: 13,

“"trap_action":

“TRAP,
“trap_priority": 13

“cbs": "8000",
“cirt: "8000",
“copp_name": "copp-systen-sflow",
“queue”: 3,

“trap_action": "TRAP",
“trap_priority": 3

Failed

Module
exception

Error: "No Error"
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Testcase

name Status

test_case_01.2 Passed  Input

}

ut: {
"copp_groups": [
{

User Input Commands

Commands: []

"copp-1",
"trap_action": "DROP",
“trap priority": 1

! copp-2",

“trap_action
“trap_priority": 2

"FORWARD" ,

+

}

Before: {
"copp.
{

1

h
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Module
Before After exception
{
“cbs": "3000", “cbs": "16000",
“cir": “"3000" "cir': "16000",
“copp_name" opp-system-suppress", “copp_name": "copp-system-stp",
"queue": 11, B
“trap_action": "TRAP", "trap action": "TRAP",
“trap_priorit: 11 “trap_priority": 21
3
{
“cbs": "100" "cbs": "2000",
“cir': "100" "cir': "2000",
"copp_name" opp-system-ttl",
"trap_action": "TRAP" queue": 6,
"trap_action": "TRAP",
“trap_priority’ 6
"ebs": 3
"cir': "500", {
"copp_name": "copp-system-udld", "cbs": "3000",
"queue”: 22, “cir': "3000",
“trap_action": "TRAP", "copp_name": "copp-system-suppress",
“"trap_priority": 22 "queue”: 11,
"trap_action": "TRAP",
“trap_priority": 11
“cbs": "500", Y
“cir': "500", {
“copp_name": "copp-system-vrrp", “cbs": "100",
“queue”: 17, “cir': "100",
“trap_action": "TRAP", “copp_name": "copp-system-ttl",
“trap_priority": 17 “trap_action": "TRAP"
+
{
“cbs": "100" "cbs": "500",
“cir': "100" “cir': "500",
“copp_name" “copp_name": "copp-system-udld”,
“queue”: 22,
“trap action": "TRAP",
“trap priority": 22
3
{
“cbs": "500",
“cirt: "500",
“copp_name": "copp-system-vrrp",
“queue": 17,
"trap_action"
"trap_priority 17
3
{
"copp_name": "default"
}
1
}
After: "Not defined" Error: "No Error"
groups": [
“cbs": "45",
“"cir': "45",
“copp_name": "copp-1",
“queue”: 1,

“trap_action": "DROP",
“trap priority": 1

“cbs": "90",
“cirt: 90",
“copp_name": "copp-2",
“queue”: 2,

“trap_action": "FORWARD",
“trap_priority": 2

“cbs": "3000",

“cir': "3000",

“copp_name”: “copp-system-arp",
10

“trap_action": "COPY",
“trap_priority": 10

"chs": "2000",

“cirt: 200",

"copp_name”: "copp-system-bfd",
"queue": 20,

"trap_action": "TRAP",
“trap_priority": 20

“cbs": "10000",

"cir': "10000",

“copp_name": "copp-system-bgp",
"queue”: 14,

“trap_action": "TRAP",

“trap_priority": 14
“cbs": "300",

“cirt: "300",

“copp_name": "copp-system-dhcp",
“queue”: 9,

“trap_action": "TRAP",
“trap priority": 9

“cbs": "5000",

“cirt: "5000",

“copp_name": "copp-system-iccp",
“queue": 16,

“trap_action": "TRAP",
“trap_priority": 16

“cbs": "1000",

“cir": "1000",

“copp_name": "copp-system-icmp”,
"queue"

“trap_action": "TRAP",

“trap priority": 8

"cbs": "2000",

"cir': "2000",

"copp_name": "copp-system-igmp",
"queue”: 12,

“trap_action": "TRAP",
“trap_priority": 12

“cbs": "6000",

"cir': "6000",

“copp_name": "copp-system-ip2me",
"queue": 7,

“trap_action": "TRAP",
“trap_priority": 7

“cbs": "500",
“cirt: "500",
“copp_name": "copp-system-lacp",
“queue": 23,

“trap_action": "TRAP",
“trap priority": 23

opp-systen-1ldp*,

queve”: 18,
“trap_action": "TRAP",

“trap_priority": 18

"cbs": "500"
"cir': "500"
"copp_name": "copp-system-mtu",
"queue": 4,

"trap_action": "TRAP",
“trap_priority": 4

cbs": "5000",
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Testcase
name

Module

Status User Input Commands Before After exception

“cirt: "5000",
“copp_name": *copp-system-ospf*,
15

“trap_action"

“CoPY",
“trap_priority": 15

e

“cbs": "5000",

“cir': "5000",

“copp_name”: “copp-system-pim",
queue”: 13,

"trap_action": "TRAP",
“trap_priority": 13

"cbs": "8000",

"cir': "8000",

“copp_name": "copp-system-sflow",
queue”: 3,

“trap_action": "TRAP",
“trap_priority": 3

“cbs": "16000",

“cir': "16000",

“copp_name": "copp-system-stp",
"queue”: 21,
“trap_action": "TRAP",
“trap_priority": 21

“cbs": 200",

“cirt: 200",

“copp_name": "copp-system-subnet",
“queue”: 6,

“trap_action": "TRAP",
“trap_priority": 6

e

“cbs": "3000",

“cir': "3000",

“copp_name": “copp-system-suppress”,
queue": 11,

"trap_action"
“trap_priorit

"TRAP",
1

"cbs": "100"
"cir': "100"
"copp_name": "copp-system-ttl",
“trap_action": "TRAP"

"cbs": "500",
"cirt: "500",
“copp_name": "copp-system-udld",
"queue": 22,

"trap action":
“trap priority":

"TRAP",
22

“cbs": "500",
“cir': "500",
“copp_name":
“queue": 17,
“trap_action": "TRAP",
“trap_priority": 17

“copp-system-vrrp",

“cbs®: 100"
“cirt: 100"
“copp_name"

Input: {
“copp_groups”: [

Commands: [ Before: {

“"copp_groups”: [
{

After: {
“copp_groups”: [
{

test_case 02.1  Passed Error: “No Error"
“copp_groups®: [
[ “cbs": 45",
“cirt: "45",
“copp_name": "copp-1",
“queue": 1,
"trap_action": "DROP",
"trap_priority": 8 "trap_action": "FORWARD", "trap_priorit: 1
} "trap_priority": 8 1. ¥,
1 } { 1
"cbs": "90",
cir': 90",
"copp_name": "copp-2",

: "copp-1", queve”: 8,
"trap_action": "FORWARD",

“trap_priority

8,

"trap_action": "FORWARD", "queue”: 8,

"cbs": "90",

"cir': "90",
"copp_name": "copp-2",
"queue":

“trap_action": "FORWARD",
“trap priority": 2

1,
“state": "merged"

“trap_action": "FORWARD",
“trap_priority": 2

30f15

+ +
{ {
“cbs": "3000", “cbs": "3000",
“cir': "3000", “cir': "3000",
“copp_name": "copp-system-arp", “copp_name": "copp-system-arp",
“queue”: 10, "queue”: 10,
“trap_action": "COPY", “trap_action": "COPY",
“trap priority": 10 “trap_priority": 10
+ +
{
“cbs": "2000", “cbs": "2000",
“cirt: "2000", “cir': "2000",
“copp_name": "copp-system-bfd", “copp_name": "copp-system-bfd",
“queue”: 20, “queue”: 20,
“trap action": "TRAP", “trap_action “TRAP",
“trap priority": 20 “trap priority": 20

e

e

“cbs": "10000",

“cir": "10000",

“copp_name”: "copp-system-bgp",
“queue”: 14,

“trap_action": "TRAP",
“trap_priority": 14

“cbs™: "300",
ncire: 300"
“copp_name": "copp-system-dhcp”,
"queue": 9,

“trap_action": "TRAP",
"trap_priority": 9

"cbs": "5000",
“cir': "5000",

“copp_name": "copp-system-iccp",
6

"queue”: 16,
“trap_action":
“trap_priority":

"TRAP",
16

“cbs": "1000",

“cirt: 100",

“copp_name": "copp-system-icmp",
“queue”: 8,

“trap_action": "TRAP",
“trap_priority": 8

“cbs": 200",

“cirt: 200",

“copp_name": "copp-system-igmp",
“queue": 12,

“trap_action"

“TRAP",
“trap_priority": 12

"cbs": "6000",
"cir': "6000",

“copp_name”: "copp-system-ip2me”,

queue”: 7,
"trap_action”

“TRAP",
“trap_priority": 7

"cbs": "10000",
"cir': "10000",

14,
“trap_action": "TRAP",
“trap_priority": 14

“cbs: "300",
nCirt: "300",

“copp_name": "copp-system-dhcp",

queue”: 9,
“"trap_action": "TRAP",
"trap_priority": 9

"cbs": "5000",
"cir": "5000",

"copp_name": "copp-system-iccp”,
1

"queue”: 16,
"trap_action":
“trap_priority

“TRAP,
16

"cbs": "1600",
“cirt: "1000",
“copp_name": "copp-system-icmp",

"queue": 8,
“trap action": "TRAP",
“trap_priority": 8

"2000",
"2000",
"copp_name":
queue”: 12,
“trap_action": "TRAP",
“trap_priority": 12

"chs": "6000",
"cir': "6000",

“copp_name”: "copp-system-ip2me”,

"trap_action
“trap_priority":

"TRAP",
7

“cbs": "560",
"cir': "500",

"copp_name": "copp-system-lacp”,

ame”: "copp-system-bgp”,

"copp-systen-igmp",

6/6/24,
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Testcase

name Status User Input Commands

e

e

e

e

Passed  Input Commands: []

test_case_02.2 ut: {
= "copp_groups”: [
{

“copp_name": "copp-1",
“queue”: 8,
“trap_action": "FORWARD",

“trap_priority": 8

e

e

Before: {
“copp_groups": [
{

file:///home/shade/regression-2024-06-06-13-52-06.html

Before

“queue": 23,
“trap_action":
“trap_priority":

"cbs": 500"
“cirt: 500"
“copp_name": “copp-system-1ldp*,
"queue": 18,

"trap_action”:

“TRAP",
"trap_priority": 18

"cbs": "500"
"cir': "500"

"copp_name": "copp-system-mtu",
"queue": 4,

“trap_action": "TRAP",
“trap_priority": 4

“cbs": "5000",

"cir': "5000",

“copp_name": "copp-system-ospf",
“queue”: 15,

“trap_action": "COPY",
“trap_priority": 15

“cbs": "5000",

“cirt: "5000",

“copp_name": "copp-system-pim",
"queue

13,
“trap_action"

“TRAP",
“trap_priority": 13

“cbs": "8000",

“cirt: "8000",

“copp_name": *copp-system-stlow",
“queue”: 3,

“trap_action": "TRAP",
“trap_priority": 3

"cbs": "16000",

neire

"copp_name": "copp-system-stp",
"queue": 21,

"trap_action": "TRAP",

“trap_priority": 21
"cbs": "2000",

“cir': "2000",

“copp_name”: "copp-system-subnet",
"queue”: 6,

“trap_action": "TRAP",

“trap_priority": 6

“cbs": "3000",

“cirt: "3000",

“copp_name": "copp-system-suppress",
“queue": 11,

“trap_action": "TRAP",
“trap priority": 11

ncbs®: 100"
“cir': "100"
“copp_name": “copp-system-ttl",

“trap_action": "TRAP"

“cbs": "500"
“cir": 500",
“copp_name”: "copp-system-udld",
“queue”: 22,

“"trap_action": "TRAP",
“trap_priority": 22

“copp-system-vrrp",
queue”: 17,
"trap_action”:

"TRAP",
"trap_priority": 17

“cbs":
“cirt:
“copp_name": "default"

“cbs": 20",
“cirt: 20",
“copp_name": "copp-1",
“queue”: 8,

“trap_action":
“trap_priorit

"FORWARD" ,
8

“cbs": "90",
“cirt: 90",
“copp_name":
“queue": 2,
“trap_action":
“trap_priorit

“copp-2",

“"FORWARD" ,
2

“cbs": "3000",

“cir': "3000",

“copp_name": "copp-system-arp",
"queue": 10,

“"trap_action": "COPY",
“trap_priority": 10

"cbs": "2000",

"cir': "2000",

“copp_name": "copp-system-bfd",
"queue": 20,

“trap_action": "TRAP",
“trap_priority": 20

“cbs": "10000",

“cir': "10000",

“copp_name": "copp-system-bgp",
“queue”: 14,

“trap_action": "TRAP",
“trap_priority": 14

:""copp-system-dhcp*,

“queue”: 9,
“trap_action":
“trap_priority":

“TRAP",
9

“cbs": "5000",

“cirt: "5000"

“copp_name”: "copp-system-iccp”,
“queue": 16,

"trap_action": "TRAP",
“trap_priority": 16

“cbs": "1000",
“cirt: 100",
“copp_name": *copp-system-icmp",
queue”: 8,

“trap_action":

"TRAP",

After

"queue: 23,

“trap_action": "TRAP",

“trap priority": 23
3
{
"copp_name": "copp-system-1ldp”,
"queue”: 18,
“trap_action": "TRAP",
“trap_priority": 18
3
{
"cbs": "500",
“cir': "500",
"copp_name": "copp-system-mtu",
"queue":
"trap_action": "TRAP",
“trap_priority": 4
+
{
"cbs": "5000",
“cir': "5000",
“copp_name": "copp-system-ospf",
"queue”: 15,
“trap_action": "COPY",
“trap priority": 15
+
{
“cbs": "5000",
“cir': "5000",
“copp_name": "copp-system-pin",
“queue”: 13,
“trap_action": "TRAP",
“trap priority": 13
3
{
“cbs": "8000",
“cir': "8000",
“copp_name": “copp-system-sflow",
“queue”: 3,
“trap_action": "TRAP",
“trap_priority": 3
3
{
"cbs": "16000",
"cir': "16000",
"copp_name": "copp-system-stp",
"queue”: 21,
“trap_action": "TRAP",
"trap_priority": 21
1
{
"2000",
"2000",
"copp_name": "copp-system-subnet",
"queue”: 6,
“trap_action": "TRAP",
"trap_priority": 6
+
{
“cbs": "3000",
“cir': "3000",
“copp_name": "copp-system-suppress”,
"queue”: 11,
“trap_action": "TRAP",
“trap priority": 11
+
{
“copp_name": "copp-system-ttl",
“trap_action": "TRAP"
3
{
“cbs": "500",
“cirt: "500",
“copp_name": "copp-system-udld”,
“queue”: 22,
“trap_action": "TRAP",
“trap priority": 22
3
{
"cbs": "500",
"cir': "500",
"copp_name": "copp-system-vrrp",
"queue”: 17,
"trap_action": "TRAP",
"trap_priority": 17
h
{
"cbs": "100",
“cir': "100",
“copp_name": "default"
}

After: "Not defined"

Module
exception

Error: "No Error®

6/6/24, 13:52
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name

Status

User Input

Commands
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Before After
“trap priority": 8
“cbs": "2000",

“cir": “"2000",
“copp_name”: "copp-system-igmp",

"trap_action": "TRAP",
“trap_priority": 12

"cbs": "6000",

"cir': "6000",

“copp_name": "copp-system-ip2me",
"queue”: 7,

“trap_action": "TRAP",
“trap_priority": 7

“cbs": "500",
"cir': "500",
“copp_name": "copp-system-lacp",
"queue": 23,

“trap_action": "TRAP",
“trap_priority": 23

“cbs": "500",
“cirt: "500",
“copp_name": "copp-system-1ldp",
“queue": 18,

“trap_action":
“trap_priorit

“cbs": "500"
“cir': "500"

“copp_name”: “copp-system-mtu",
“queue": 4,

“trap_action": "TRAP",
“trap_priority": 4

"cbs": "5000",

“cirt: "5000",

"copp_name”: "copp-system-ospf",
"queue": 15,

"trap_action"
“trap_priorit

"cbs": "5000",
"cir': "5000",
"copp_name": "copp-system-pim",

"queue”: 13,
“trap_action": "TRAP",
“trap_priority": 13

“cbs": "8000",

“cir': "8000",

“copp_name": "copp-system-sflow",
"queue": 3,

“trap_action": "TRAP",
“trap_priority": 3

“cbs": "16000",

“cir': "16000",

“copp_name": “copp-system-stp",
“queue”: 21,
“trap action": "TRAP",
“trap_priority": 21

“cbs": "2000",
“cir': "2000"
“copp_name": “copp-system-subnet",

“queue": 6,
“trap_action": "TRAP",
“trap_priority": 6

"cbs": "3000",
“cirt: 300",
“copp_name": *copp-system-suppress",

queue": 11,
"trap_action”:

"TRAP",
"trap_priority": 11

"cbs": 100"
“cir': 100"
"copp_name": "copp-system-ttl",
“trap_action": "TRAP"

“cbs": "500",
“cirt: "500",
“copp_name": "copp-system-udld",
“queue": 22,

“trap_action": "TRAP",
“trap priority": 22

“cbs": "500"
“cir': "500"
“copp_name"
“queue”: 17,

“trap_action":
“trap_priority":

“cbs": "100"
"cir': "100"
“copp_name"

Module
exception
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Testcase
name Status User Input
test_case_03.1 Passed ~ Input: {

“copp_groups": [
{

"ebst
eirt:
"copp_name": "copp-2",
"trap_action": "FORWARD"

1,

{
icbs": 70",
cirn: 170",
“copp_name": "copp-3",
"queue" :
“trap_action": "DROP",
“trap priority": 3

18

{

: “copp-4",

“trap_action”: "DROP",
“trap_priority": 5

¥

6 of 15

Commands

Commands: [
{
“copp_groups": [
{

"cbs": "90",
eirt: "9
"copp_name
"queue”: 2,

“trap_priority":

1,
"state": "deleted"

“copp_groups": [
{

copp-2",
": "FORWARD"

“copp-3",

“trap_action”: "DROP",
“trap_priority": 3

copp-4",

"trap_: action®
”trap,pnonty 15

"DROP",
i

1,
“state": "replaced"

Before: {
"copp.
{

e

e

e

e

e

e

file:///home/shade/regression-2024-06-06-13-52-06.html

Before
groups": [
“ebs': 120",
irn: wagn.
“copp_name": "copp-1",
"queue": 8,
“trap_action": "FORWARD",
“trap_priority": 8
“cbs": 90",
irn: ngen
“copp_name": "copp-2",
“queue”: 2

“trap_priority": 2

“cbs": "3000",
“cirt: 300",
“copp_name":
“queue": 10,

“trap_action"

“trap_priority":

"cbs": "2000",
“cirt: "2000"
“copp_name"

“queue”: 20,
"trap_action”

“trap_priority":

“copp-system-arp",

“copy*,
"1 10

opp-systen-bfd",

"TRAP",
20

“cbs": "10000",

"cir': "10000"
"copp-system-bgp",

"copp_name"
queue”: 14,

“trap_action”:
“trap_priority":

“cbs": "300",
“cirt: "300"
“copp_name" :

"queue":

9,
“trap_action":

" copp-system-dhcp”,

“TRAP",

“trap_priority": 9

“cbs": "5000",
“cirt: "5000",
“copp_name":
“queue": 16,

“trap_action"
“trap_priorit

“cbs": "1000",
“cirt: "1000",
“copp_name":
“queue”: 8

“trap_action"
“trap_priorit

"cbs": "2000",
“cirt: 200",
“copp-systen-igmp*,

“trap_action”:

“trap_priorit

"cbs": "6000",
“cir": "6000",
“copp_name" :

"queue":

7,
“trap_action":

"copp-systen-iccp”,

"TRAP",
"1 16

“copp-systen-icmp",

"TRAP",
"1 8

"TRAP",
112

" copp-system-ip2me",

"TRAP",

“trap_priority": 7

“cbs": "500",
“cirt: "500",
“copp_name":

"queue”: 23,

“trap_action":

“copp-system-lacp”,

“TRAP",

“trap priority": 23

“cbs": 500"
“cirt: 500"
“copp_name"
“queue”: 18,

“trap_action":

“trap_priorit

“ebs": "500"
"cir: "500"
"copp_nane"
“"queue": 4,

“trap_action”:

“trap_priorit

"cbs": "5000",
"cir': "5000",
"copp_name":
"queue": 15,

“trap_action”
“trap_priorit

"cbs": "5000",
“cir': "5000",
“copp_name":
“queue": 13,

“trap_action":

"copp-system-mtu",

"TRAP",
4

"copp-system-ospf",

"CoPY",
"1 15

"copp-system-pin",

“TRAP",

“trap priority": 13

“cbs": "8000",
“cirt: "8000",
“copp_name":
"queue"

“trap_action":

“trap_priorit

“copp-system-sflow",

"TRAP",
3

“cbs": "16000" ,
“cirt: "16000",

1,
“trap_action"

: “copp-system-stp",

“TRAP",

“trap_priority": 21

“cbs": 200",
"cir: "2000",
"copp-systen-subnet”,

" copp_| name"
"queue": 6,
“trap_action"

“trapiprlorlty :

"cbs": "3000",

“cir": "3000"
"copp_name"
"queue”: 11,

“trap_action":
“trap_priority

“cbs": "100",
“cirt: "1600",
“copp_name":

“cbs": "500",
“cirt: 500"
“copp_name"

"TRAP",
6

" copp-system-suppress",

"TRAP",
1

"copp-system-ttl",
“trap_action": "TRAP"

copp-system-udld”,

Module
After exception
Error: "No Error"
groups”: [
"ebst: 120",
cirns 12gn
"copp_name": "copp-1",
"queue”: 8,

“trap_action": "FORWARD",
“trap_priority": 8

iehs': *60",
aeirts vgon

“Copp_name": "copp-2",
“trap action": "FORWARD"

“cbs": "70",
“cirt: 70",
“"copp_name":
“queue”: 3,
“trap_action
“trap_priority":

“copp-3",

"DROP",
3

“cbs": "75",
"oe7se,
“copp name":
"queue’
“trap action”:

"copp-

"DROP",

“trap_priority": 5
"cbs": "3000",
"cir': "3000",

"copp-system-arp",

10,
“trap_action": "COPY",
"trap prlcrlty : 10

"cbs": "2000",

Teir': "2000",

"copp_name": "copp-system-bfd",
"queue”: 20,

“trap_action": "TRAP",
“trap priority": 20

“cbs": "10000",
teirt: '10000",
“copp_name": "copp-system-bgp",
"queue":
“trap_action”:
“trap_priority

"TRAP",
14

“cbs": "300",
“cirt: "300%,
coBp_nane" *copp-systen-dhcp”

“trap_: actmn": “TRAP",
“trap_priority": 9

"5000",

"5000",
"copp_name": "copp-system-iccp”,
"queue": 16,

"trap_action": "TRAP",
"trap_priority": 16

"cbs": "1000",

Teir': "1000%,

"copp_name": "copp-system-icmp”,
"queue!

“trap action”: "TRAP",
"trap_priority": 8

"cbs": "2000",
"cirt: "2000",
“copp_name": "copp-system-igmp",

"queue’

"trap_: act)on": "TRAP",

“trap_priority": 12
“cbs": "6600",
“cirt: "6000",
“copp_name”: *copp-systen-ip2ne”,

"queue
“trap_action”: "TRAP",
“trap_priority": 7

“cbs": "500",
“cirt: "500",
“copp_name": *copp-systen-lacp",

23,
“trap_action":

“TRAP",
“"trap_priority": 23

"cbst: "500",
cirr: "300"

“copp_name": "copp-system-1ldp",
"queue!

"trap action’:

"TRAP",
"trap_priority": 18

"cbs": "500",

Teirt: "500",

"copp_name": "copp-system-mtu",
"queue" :

“trap action’: "TRAP",
“trap_priority": 4

"cbs": "5000",
"cirt: "5000",
“copp_name": "copp-system-ospf",

“queue": 15,
“trap_action"
“trap_priority":

“copy*,
15

“cbs": "5000",
“cirt: "5000",
“copp_name”: “copp-systen-pin",
“queue”: 13,

“trap_action": “TRAP",
“trap_priority": 13

"cbs": "8000",
“cir': "8000",
"copp_ "copp-systen-sflow",

"queue": 3,
“trap_action": "TRAP",
"trap_priority": 3

"cbs": "16000",

"cir': "16000",

"copp_name": "copp-system-stp",
"queue”: 21,

“trap_action": "TRAP",
“trap_priority": 21

"cbs": "2000",

"cirt: "2000",

“copp_name": "copp-system-subnet",
"queue":

6,
“trap_action":

“TRAP,
“"trap_priority": 6

“ebst:
eirt:

"3000",
"3000",

6/6/24,
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Testcase
name Status User Input
test_case 03.2 Passed Input: {

"copp_groups”: [
{

“copp_name
“trap_action
3
{
“copp-3",
: 3,
“trap_action": "DROP",
“trap_priority": 3
}
{
"trap_action”: "DROP",
"trap priority": 5
}

7 of 15

Commands :

Commands

(1

Before: {

“copp_
{

file:///home/shade/regression-2024-06-06-13-52-06.html

Before

“queue": 22,
“trap_action":
“trap_priority":

“cbs": "500"
“cir: "500"
“copp_name"
queue": 17,
“trap_action": "TRAP",
“trap_priority": 17

"copp-system-vrrp",

“cbs': "100"
cir": "100"
“copp_name"

groups": [
“ebs®: "20%,
weirt 20t

" vcopp-1°,

queue”: 8,
“trap_action": "FORWARD",
8

“trap_priorit

"cbs": "60",

"cir': "60",
“copp_name": "copp-2",
“trap_action": "FORWARD"

“ebst: 70",
cirn v7gn
“copp_name": "copp-3",

"queue": 3,
“trap_action": "DROP",
“trap priority": 3

“ebs: 175,
irns w7gn
“copp_name": "copp-4",
“queue”: 5,

“trap_action":
“trap_priority

“DROP",
5

“cbs": "3000",
“cirt: 300",
“copp_name": "copp-system-arp",

“queue": 10,
“trap_action": "COPY",
“trap_priority": 10

“cbs": "2000",

“cir': "2000",

“Copp_name": “copp-system-bfd",
“queue": 20,

“"trap_action"
“trap_priorit

"cbs": "10000",

“copp_name":
"queue”: 14,
“trap_action": "TRAP",
“trap priority": 14

"copp-system-bgp",

“cbs": "300"
"cir': "300",

“copp_name": "copp-system-dhcp”,
"queue": 9,

“trap_action": "TRAP",
“trap_priority": 9

“cbs": "5000",

“cirt: "5000",

“copp_name": "copp-system-iccp",
“queue": 16,

“trap_action": "TRAP",
“trap_priority": 16

“cbs": 100",
“cirt: "1000"
“copp_name": *copp-system-icmp*,

“queue": 8,
“trap_action": "TRAP",
“trap_priority": 8

“ebs®: 200",
“cirt: 200",
“Copp_name": *copp-system-igmp*,

queue”: 12,

"trap_action": "TRAP",

“trap_priorit: 12
"cbs": "6000",

"cir': "6000",

"copp_name": "copp-system-ip2me",
"queue": 7,

“trap_action": "TRAP",
“trap_priority": 7

"ehs": "500",
“cir': "500",
“copp_name": "copp-system-lacp",
"queue”: 23,

“trap_action": "TRAP",
“trap priority": 23

“cbs": 500"
“cirt: 500"
“copp_name": "copp-system-1ldp",
“queue”: 18

“trap_action": "TRAP",
“trap_priority": 18

“cbs": "500",

“cir': "500",

“copp_name”: “copp-system-mtu",
4

“"trap_action": "TRAP",
“trap_priority": 4

"cbs": "5000",
"cir': "5000",
: "copp-system-ospf",
: 15,

"trap_action”:
"trap_priority":

"CcopPY",
15

Module
After exception

"copp_name": "copp-system-suppress",
“queue”: 11,
“trap action": "TRAP",
“trap_priority": 11

3

{

100",

cir': "100",
“"copp_name": "copp-system-ttl",
“trap_action": "TRAP"

3

{
“copp_name": "copp-system-udld”,
"queue”: 22,
“trap_action": "TRAP",
"trap_priority": 22

+

{
"cbs": "500",
“cir': "500",
"copp_name": "copp-system-vrrp",
"queue”: 17,
“trap_action": "TRAP",
“trap_priority": 17

+

{
“cbs": "100",
“cir': "100",
“copp_name": “default"

}

1
}
After: "Not defined" Error: "No Error"
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Testcase Module
name Status User Input Commands Before After exception
I
{
“cbs": "5000",
“cir": "5000",
“copp_name": "copp-system-pim",
“queue”: 13,
“trap_action": "TRAP",
“trap priority": 13
}
{
"cbs": "8000",
"cir": "8000",
"copp_name": "copp-system-sflow",
"queue”: 3,
“trap_action": "TRAP",
“trap_priority": 3
+
{
“cbs": "16000",
"cir': "16000",
"copp_name": "copp-system-stp",
"queue”: 21,
“trap_action": "TRAP",
“trap_priority": 21
+
{
“cbs": "2000",
“cirt: "2000",
“copp_name": "copp-system-subnet",
“queue”: 6,
“trap action": "TRAP",
“trap_priority": 6
}
{
“cbs": "3000",
“cirt: "3000"
“copp_name" opp-system-suppress",
“queue”: 11,
“trap_action": "TRAP",
“trap priority": 11
I
{
“cbs": "100"
“cir': "100"
“copp_name" opp-system-ttl",
“trap_action": "TRAP"
}
{
"cbs"
"cir” B
“copp_name": "copp-system-udld",
"queue”: 22,
“trap_action": "TRAP",
"trap_priority": 22
h
{
“cbs": "500",
"cir': "500",
“copp_name": "copp-system-vrrp",
“queue”: 17,
“trap_action": "TRAP",
“trap_priority": 17
+
{
“cbs": "100",
“cirt: "100",
“copp_name": "default"
}
1
}
test case 04.1  Passed  Input: { Commands: [ Before: { After: { Error: "No Error"
= "copp_groups”: [ { “copp_groups”: [ “copp_groups”: [
{ “copp_groups": [ { {
“cbs { “cbs": “20", “copp_name": “copp-1*,
teir': “cir': 20", “trap action": "FORWARD"
“copp_name": "copp-1", “copp_name": "copp-1", ¥,
"queue": 8, copp-1", "queue": 8, {
“trap_priority": 8 “trap_action": "FORWARD", "cbs": "70",
}, “trap_priority": 8 “trap_priority": 8 “cirt: "70",
3. I “copp_name": "copp-
"copp_name": "copp-2" { { "queue”: 3,
“copp_name": "copp-2" "cbs": "60", "trap_action": "DROP",
1 ¥ “cir': "60", “trap_priority": 3
} 1, "copp_name": "copp-2", }
"state": "deleted" "trap_action": "FORWARD" {
1
1 {
“cbs": "70", "copp_name" :
"cir': "70", "queue”: 5,
“copp_name": "copp-3", “trap_action": "DROP",
"queue”: 3, “trap_priority": 5
“trap_action": "DROP", 1,
“trap_priority": 3 {
1 "cbs": "3000",
{ “cir': "3000",
“cbs": "75", “copp_name": "copp-system-arp",
“cirt: "75", "queue": 10,
“copp_name": "copp-4", “trap action": "COPY",
"queue": 5, “trap_priority": 10
“trap_action": "DROP", 3,
“trap_priority": 5 {
3 “cbs": "2000",
{ “cir': "2000",
“cbs": "3000", “copp_name": "copp-system-bfd",
“cir': "3000" “queue”: 20,
“copp_name" opp-system-arp", “trap_action": "TRAP",
“queue”: 10, “trap priority": 20
“trap_action": "COPY", 3,
“trap priority": 10 {
Y “cbs": "10000",
{ "cir': "10000",
"cbs": "2000", “copp_name": "copp-system-bgp",
“cir": "2000" "queue": 14,
“copp_name”: "copp-system-bfd", “trap_action
"queue”: 20, “trap_priority":
“trap_action": 3,
“trap_priority": 20 {
1 "cbs": "300",
{ "cir': "300",
"cbs": "10000", "copp_name": "copp-system-dhcp”,
"cir": "10000" " ,
"copp_name": "copp-system-bgp", "trap_action": "TRAP",
"queue": 14, “trap_priority”: 9
“trap_action": "TRAP", iy
"trap_priority": 14 {
1 "cbs": "5000",
{ ,
“cbs": "300" "copp-system-iccp”,
“cir': "30" "queue”: 16,
“copp_name": "copp-system-dhcp”, “trap_action": "TRAP",
"queue": 9, "trap_priority": 16
“trap_action": "TRAP", 3,
“trap_priority": 9 {
1 “cbs": "1000",
{ “cir': "1000",
“cbs": "5000", “copp_name": "copp-system-icmp",
“cir': "5000", "queue”: 8,
“copp_name": "copp-system-iccp”, “trap_action": "TRAP",
“queue”: 16, “trap priority": 8
“trap action": "TRAP", 3,
“trap_priority": 16 {
3, “cbs": "2000",
{ “cir': "2000",
“cbs": "1000", “copp_name": "copp-system-igmp",
“cirt: "1000", “queue”: 12,
“copp_name": "copp-system-icmp", “trap_action": "TRAP",
8, “trap_priority": 12
“trap action": "TRAP", .
“trap_priority": 8 {
¥, “cbs": "6000",
{ “cir': "6000",
“cbs": "2000", "copp-system-ip2me",
“cirt: "2000", queve”: 7,
copp_name": "copp-system-igmp", "trap_action": "TRAP",
12, "trap_priority": 7
"trap_action": "TRAP", 1,
"trap_priority": 12 {
1 "cbs": "500",
{ “cir': "500",
"cbs": "6000", "copp_name”: "copp-system-lacp",
"cir': "6000", "queue": 23,

8 of 15 6/6/24, 13:52
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Testcase Module
name Status User Input Commands Before After exception
"copp_name": "copp-system-ip2me", "trap action": "TRAP",
“queue": 7, “trap_priority": 23
“trap_action": "TRAP", .
“trap_priority": 7 {

b “cbs": "500",

{ “cirt: "500",

"cbs": "500" "copp_name": "copp-system-1ldp",
"cir': "500" "queue”: 18,

“copp_name": "copp-system-lacp”, "trap_action": "TRAP",

"queue”: 23, "trap_priority": 18
"trap_action": "TRAP", .

“trap_priority": 23 {

+

{

"cbs": "500" "copp_name”: "copp-system-mtu",
"cir': "500" "queue": 4,

“copp_name”: "copp-system-1ldp", "trap_action": "TRAP",
"queue": 18, "trap_priority": 4
“"trap_action": "TRAP", 1,

“trap_priority": 18 {

1 "cbs": "5000",

{ "cir': "5000",

"cbs": "500", "copp_name": "copp-system-ospf",
“cir': "500", "queue": 15,

“copp_name": "copp-system-mtu", “trap_action": "COPY",

“queue": 4, “trap_priority": 15
“trap_action": "TRAP", 3,

“trap_priority": 4 {

I “cbs": "5000",

{ “cir': "5000",

“cbs": "5000", “copp_name": "copp-system-pim",
“cir': "5000" “queue": 13,

“copp_name" opp-system-ospf", "trap_action": "TRAP",
"queue": 15, “trap_priority": 13
“trap_action": "COPY", 3,

“trap_priority": 15 {

b “cbs": "8000",

{ “cir': "8000",

“cbs": "5000", “copp_name": “copp-system-sflow",
“cir": "5000" "queue": 3,

“copp_name" opp-system-pim", “trap_action": "TRAP",

"queue": 13, “trap_priority": 3
"trap_action”: 3,

"trap_priority": 13 {

} "cbs": "16000",

{ "cir': "16000",
"cbs": "8000", "copp_name": "copp-system-stp",
"cir': "8000", " .
"copp_name": "copp-system-sflow", "trap action": "TRAP",
"queue": 3, "trap_priority": 21
“trap_action": "TRAP", 1,

“trap_priority": 3 {

1 "cbs": "2000",

{ "cir': "2000",

"cbs": "16000", ": "copp-system-subnet",
"cir': "16000", 6,

“copp_name": “copp-system-stp", "trap_action": "TRAP",

“queue": 21, "trap_priority": 6

“trap_action": "TRAP", 3,

“trap_priority": 21 {

1 “cbs": "3000",

{ "cir': "3000",

“cbs": "2000", "copp_name": "copp-system-suppress",
“cir': "2000", “queue": 11,

“copp_name": "copp-system-subnet", “trap_action": "TRAP",

“queue": 6, “trap_priority": 11

“trap_action": "TRAP", 3,

“trap_priority": 6 {

3, “cbs": "100",

{ “cir': "100",

“cbs": "3000", “copp_name": “copp-system-ttl",
“cir': "3000", “trap action": "TRAP"
“copp_name": "copp-system-suppress", 3,

11, {
“trap_action": "TRAP", "cbs": "500",
“trap priority": 11 “cirt: "500",

), “copp_name": “copp-system-udld",

{ “queue": 22,

"cbs": "100", "trap_action "TRAP",
"eirt: "100", "trap_priority": 22
“"copp_name": "copp-system-ttl", ¥,
"trap_action": "TRAP" {
3 "cbs": "500",
{ "cir': "500",
“"copp_name": "copp-system-vrrp",
"queue": 17,
"copp-system-udld", "trap_action": "TRAP",
"trap_priority": 17
"trap_action": "TRAP", 3,
"trap_priority": 22 {
1 "cbs": "100",
{ “cir': "100",
"cbs": "500" “copp_name": "default”
“cir': "500" }
“copp_name”: "copp-system-vrrp", ]
“"queue": 17, }
“trap_action": "TRAP",
“trap_priority": 17
+
{
“cbs": "100",
“cir': "100",
“copp_name": "default”
}
1
}
test case 04.2  Passed  Input: { Commands: [1 Before: { After: "Not defined" Error: "No Error"
- - “copp_groups”: [ “copp_groups”: [
“copp_name" opp-1",
“trap action": "FORWARD"
I
{
“trap_priority": 8 “cbs": "70",
8 “cirt: "70",
“copp_name": "copp-3",
"copp_name": "copp-2" "queue”: 3,
"trap_action": "DROP",
1 "trap_priority": 3
i }
{
“cbs": "75",
tcirt: "75",
“copp_name”: "copp-4",
"queue": 5,
“trap_action": "DROP",
“trap_priority": 5
+
{
“cbs": "3000",
cir': "3000",
“copp_name": "copp-system-arp",
“queue": 10,
“trap_action": "COPY",
“trap_priority": 10
+
{
“cbs": "2000",
“cir': "2000",
“copp_name": “copp-system-bfd",
“queue": 20,
“trap_action": "TRAP",
“trap_priority": 20
I
{
“cbs": "10000",
“cir': "10000"
“copp_name”: “copp-system-bgp",
“queue”: 14,
“trap action": "TRAP",
“trap_priorit: 14
I
{
"cbs": "300"
"cir': "300"
"copp_name": "copp-system-dhcp”,
"queue”: 9,
"trap_action": "TRAP",
“trap_priority": 9
+
{

9 0of 15 6/6/24, 13:52
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Testcase
name

test_case_05.1

Status

Passed

User Input

Input

ut: {
"copp_groups”: [
{

! copp-5",

“trap_action":
“trap_priority": 1

"FORWARD",

Commands

Commands: [
{

“copp_groups": [

"copp_name"
“trap_action":

“copp-1",
"FORWARD"

“copp-3",

"queue": 3,
“trap_action":
“trap_priority": 3

“"DROP",

3
{
"Copp_name" : "copp-4",
“queue”: 5,
“trap_action”: "DROP",
"trap_priority": 5
1,
"state": "deleted"

“copp_groups": [
{

e

Before:

After: {
“copp_groups": [ "copp
{ {
“copp_name": "copp-1",
“trap_action": "FORWARD"
“cbs": "70",
“cirt: 70",
"copp_name": "copp-3", 3
"queue”: 3, 1
“trap_action": "DROP",
“trap_priority": 3
“cbs": "75",
tcirt: "75",
"Copp_name" | "copp-4", 3
“queue” s 5, 1
“"trap_action": "DROP",
"trap_priority": 5
"cbs": "3000",
"cir': "3000",
ame": "copp-system-arp", +
: 10, {

file:///home/shade/regression-2024-06-06-13-52-06.html

Before
“cbs": "5000",
“cirt: 500",

: "copp-system-iccp”,

"trap_action": "TRAP",
6

“trap_priority": 1

"cbs": "1000",

“cirt: 100",

"copp_name": "copp-system-icmp",
"queue”: 8,

"trap_action": "TRAP",
"trap_priority": 8

"cbs": "2000",
"cir': "2000"
"copp_name"
"queue”: 12,

“trap_action":
“trap_priority

" copp-system-igmp",

"TRAP",
12

“cbs": "6000" ,

“cir': "6000",

“copp_name": "copp-systen-ip2me",
“queue”: 7,

“trap_action": "TRAP",
“trap_priority": 7

“cbs":
teirt:

“copp_name": "copp-system-lacp",
“queue”: 23,

“trap_action": "TRAP",

“trap priority": 23

“cbs": "500"

"cir": "500"

“copp_name”: "copp-system-1ldp",
“queue": 18,

“"trap_action"
“trap_priorit

"TRAP",
"1 18

"trap_action”
“trap priority":

“TRAP",
4

"cbs": "5000",

“cir': "5000",

“copp_name": "copp-system-ospf",
“queue": 15,

“trap_action": "COPY",
“trap_priority": 15

“cbs": "5000",

“cirt: "5000",

“copp_name": "copp-system-pim",
“queue": 13,

“trap_action": "TRAP",

“trap_priority": 13

“cbs": "8000",

“cirt: "8000",

“copp_name": *copp-system-sflow",
“queue”: 3,

“trap_action": "TRAP",
“trap_priority": 3

"cbs": "16000",

eire

"copp_name": "copp-system-stp",
"queue": 21

"trap_action": "TRAP",

“trap_priority": 21
"cbs": "2000",

"cir': "2000",

“copp_name”: "copp-system-subnet",
"queue”: 6,

“trap_action": "TRAP",

“trap_priority": 6

“cbs": "3000",

“cirt: "3000",

“copp_name": "copp-system-suppress",
“queue": 11,

“trap_action": "TRAP",
“trap_priority": 11

“chs":
teirt: B
“copp_name":

“copp-systenm-ttl",

“trap action": "TRAP"

“cbs': “509*

“cir": 500"

“copp_name": "copp-system-udld",
“queue”: 22,

“trap_action"
“trap_priorit

“TRAP",
i 22

"copp-system-vrrp",

queue”: 17,
“trap_action":
“trap_priority": 17

"TRAP",

"cbs": "100"
“cirt: "100",
“copp_name": "default"

"trap_action”:
"trap_priority":

"CcopPY",
10

Module
After exception
Error: "No Error"
groups”: [
iebst: 115",
e
“copp_name": “copp-5",
“queue”: 1,

“trap_action": "FORWARD",
“trap_priority": 1

“cbs": "3000",

“cirt: 300",

“copp_name": "copp-system-arp",
“queue”: 10,

“trap_action": "COPY",
“trap_priority": 10

"cbs": "2000",

"cir': "2000",

“copp-systen-bfd",

20,
"trap_action": "TRAP",
"trap_priority": 20

bt
"eirt:

"10000",
"10000",

6/6/24,
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Testcase Module
name Status User Input Commands Before After exception
} “copp_name": “copp-system-bgp",
{ “queue": 14,
“copp-5", “cbs": "2000", "trap action": "TRAP",
"cir": "2000", “trap priority": 14

“trap_action": "FORWARD", “copp_name": "copp-system-bfd", 3
“trap_priority": 1 "queue": 20, {
} “trap_action" "300",
1, “trap_priority": "300",
"State": "overridden” 3, "copp_name" : " copp-systen-dhcp",
1 “queue” :
1 "cbs": "10000", "trap_action”: "TRAP",
"cir': "10000 “"trap_priority": 9
"copp_name": "copp-system-bgp", 1.
"queue": 14, {
“trap_action": "TRAP", "cbs": "5000",
"trap.| prmnty 14 "cir': "5000",
1, “copp_name": "copp-system-iccp”,
{ "queue ,
“cbs": "300" “trap_action": "TRAP",
"cir': "300", "trap_priority": 16
"copp_name": "copp-system-dhcp”, 1.
"queue": 9, {
“trap_action": "TRAP", "cbs": "1000",
“trap priority": 9 "cir': "1000",
1, “copp_name": "copp-system-icmp",
"queue": 8,
“cbs": "5000", “trap_action": "TRAP",
"cir': "5000", “"trap_priority": 8
“copp_name": "copp-system-iccp”, 1.
"queue": 16, {
“trap_action": "TRAP", "chs": "2000",
“trap_priority": 16 “eir': "2000",
1. “copp_name": "copp-system-igmp”,
1 “queue” :
“"cbs": "1000", “trap_action”: "TRAP",
"cir': "1000" “trap_priority": 12
"copp_name”: "copp-systen-icmp”, }.
"queue”: 8, {
“trap_action”: "TRAP", “cbs": "6000",
“"trap_priority": 8 "cir': "6000",
3, “copp_ name“: "copp-system-ip2me",
{
“"cbs": "2000", “trap_ actmn": “TRAP",
"cir': "2000" “trap_priority”": 7
“copp_name": "copp-system-igmp", }.
“"queue": 12, {
"trap_action": "TRAP",
"trap_priority": 12
1, "copp-system-lacp",
{ 2
"cbs”: "6000", "trap_: act)on “TRAP",
"eirt: ”so@o”, "trap,prwrlty 23
"copp_name": "copp-system-ip2me", 1.
"queue": 7, {
“trap_action": "TRAP", "cbs": "500",
“trap_priority": 7 "cir': "500",
1, “copp_name": "copp-system-1ldp",
{ "queue”: 18,
“cbs": "500", "trap_action”
"cir': "500", "trap_priority": 18
“copp_name": "copp-system-lacp”, 1.
"queue": 23, {
“trap_action": "TRAP", "cbs": "500",
“trap_priority": 23 "eir': "500",
iy “copp_name": "copp-system-mtu",
{ "queue” :
“cbs": "500" "trap_: actlon": "TRAP",
"cir': "500" “"trap_priority": 4
“copp_name”: "copp-system-1ldp”, 1.
"queue": 18, 1
“"trap_action": "TRAP", "cbs": "5000",
“trap_priority": 18 “cir': "5000",
3, “copp_name”: *copp-systen-ospf”,
1 "queue”: 1
"cbs": "500", “trap action": "COPY",
"cirt: "500", “trap_priority": 15
“copp_name": "copp-system-mtu", 3
“queue”: 4, 1
“"trap_action": "TRAP", “"cbs": "5000",
“trap_priority": 4 "cir': "5000",
Y, "copp_name”: *copp-system-pin”,
{ “queue": 13,
“cbs": "5000", "trap_action”: "TRAP",
"cir': "5000", "trapiprwrlty 113
“copp. "copp-system-ospf", 3},
"queue {
"trap_: act)on : "COPY", “cbs": "8000",
“trap_priority": 15 "cir': "8000",
1, “copp_name": "copp-system-sflow",
“cbs": "5000", "trap. actlon "TRAP",
"cir': "5000", "trap prlcrlty ;3
“"copp_name": "copp-system-pim", 1.
"queue": 13, {
“trap_action": "TRAP", "cbs": "16000",
“trap priority": 13 Teir': "16000",
1 “copp_name": "copp-system-stp",
{ "queue": 21,
“cbs": "8000", “trap_action": "TRAP",
"cir': "8000", "trap_priority": 21
“copp_name": "copp-system-sflow", 1.
“"queue": 3, {
“trap_action": "TRAP", "cbs": "2000",
“trap_priority": 3 “cir': "2000",
1, “copp_name": "copp-system-subnet",
1 "queue”: 6,
"cbs": "16000", “trap_action": "TRAP",
“eirt: "16000 “trap_priority": 6
“copp_name": "copp-system-stp", 3
"queue": 21, 1
“trap_action": "TRAP", "3000",
“trap_priority": 21 "3000",
3, “copp_name": "copp-system-suppress”,
1 "queue”: 11,
"cbs®: *2000%, “trap_action”: "TRAP",
“cir': "2000", “trap_priority": 11
*copp_name”: *copp-systen-subnet”, 3,
“queue": 6, {
“trap_action”: "TRAP", “cbs": "100",
"trap_priority": 6 "cir': "100",
} “copp_name": "copp-system-ttl",
{ "trap_action”: "TRAP"
"cbs": "3000", 1
"cir': "3000", {
“copp_name": "copp-system-suppress”, "cbs": "500",
“queue": 11, "Clr“: 500",
“trap_action": "TRAP", "copp_name": "copp-system-udld",
"trap_priority": 11 "queue
1, “trap_action”: "TRAP",
{ "trap_priority": 22
"cbs": "100", i
"cir': "100", «
"copp_name": *copp-systen-ttl", "cbs": "500",
“trap_action": "TRAP "cir": 500",
1, “copp_name": "copp-system-vrrp",
{ "queue": 17,
“cbs": 500", “trap_action": "TRAP",
"eir': "500" “trap_priority": 17
“copp_name": "copp-system-udld”, 1.
"queue": 22, {
“trap_action": "TRAP", “cbs": 100",
“trap_priority": 22 “eir': "100",
1. “copp_name": "default"
{ }
“cbs": "500" 1
“cir': "500" }
“copp_name": "copp-system-vrrp”,
"queue": 17,
“"trap_action": "TRAP",
“trap_priority": 17
h
{
"cbs": "100"
“cirt: 100",
"copp_name": "default”
}
1
}
test case 05.2  Passed  Input: { Commands: [] Before: { After: "Not defined” Error: "No Error"
= - “copp_groups”: [ "copp_groups": [
{ {
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Testcase
name

Status

User Input Commands

“copp-5",

“trap_action": "FORWARD",
"trap_priority": 1
¥

file:///home/shade/regression-2024-06-06-13-52-06.html

Before
"cbs®: "15",
acipn: "15n
“copp_name": "copp-5",

1,
“trap_action":

“"FORWARD" ,

“trap_priority": 1

“cbs®: "3000"
"cir's "3000"
"copp_name"

queue”: 10,
"trap_action"

“trap_priority":

“cbs': "2000"
“eir's "2000"
“copp_name"

"queue": 20,

“trap_action":
“trap_priority

“cbs": "10000
“cir": "10000
“copp_name" :

"queue": 14,

“trap_action":

“copp-system-arp",

: "CoPY",
10

"copp-system-bfd",

"TRAP",
20

"copp-system-bgp",

“TRAP",

“trap priority": 14

“ebs":
veirt:
“copp_name" :
"queue": 9,

“trap_action"
“trap_priorit

"cbs": "5000"
"cir': "5000"
“copp_name" :
“queue”: 16,

“"trap_action"
“trap_priorit

"cbs": "1000"
“cirt: "1000"
“copp_name":
"queue" ,

“trap_action"

“"trap_priority":

"cbs": "2000"
“cir": "2000"
“copp_name" :
"queue": 12,

“trap_action":

“copp-system-dhcp”,

“TRAP",
"1 9

“copp-system-iccp”,

"TRAP",
"1 16

“copp-system-icmp",

"TRAP",
8

" copp-system-igmp",

“TRAP",

“trap_priority": 12

“cbs": "6000"
“cir': "6000"
“copp_name":
“queue”: 7,

“trap_action":

“trap_priorit

“cbs": "500"
“cir': "500"
“copp_name"
“queue”: 23,
“trap_action”
“trap_priorit

“cbs": "500"
“cirt: "500"
“copp_name"
“queue”: 18,

"trap_action"
“trap_priorit

“cbs": "500"
“cir": "500"
“copp_name" :
queue": 4,

“trap_action":

“trap_priorit;

“cbs": "5000"
“cir': "5000"
"copp_name":
“queue": 15,

“trap_action":

“trap_priorit

“cbs": "5000"
“cirt: "5000"
"copp_name" :
“queue": 13,

“trap_action"
“trap_priorit

“cbs": "8000"
wcirt: "8000"
“"copp_name"

queue”: 3,
“trap_action"
“trap_priorit

" copp-system-ip2me",

Y

“copp-systen-lacp”,

;. “TRAPY,
23

“copp-systen-1ldp",

"TRAP",
18

"copp-system-mtu",

"TRAP",
y': 4

" copp-system-ospf",

"copy",
y's 15

“copp-system-pim",

"TRAP",
y": 13

opp-system-sflow",

"TRAP",
y': 3

"cbs": "16000",

"cir': "16000"

“copp_name"
“queue”: 21,

"trap_action”:
“trap_priority":

"cbs": "2000"
“cir": "2000"
“copp_name" :
"queue": 6,

“trap_action":

“trap_priorit:

“cbs": "3000"
“cirt: "3000"
"copp_name":
“queue": 11,

“trap_action"
“trap_priorit

“chs":
teirt:
“copp_name":

“trap_action":

"cbs": "500"
"cir': "500"
“copp_name"
“queue”: 22,

"trap_action”:

“trap_priorit

ncbs": 500"
"cir's "500"
"copp_name"
"queue": 17,

“trap_action":

“trap_priorit;

"copp-system-stp",

"copp-system-subnet”,

"TRAP",
y'i 6

" copp-system-suppress”,

“TRAP",
y": 11

opp-system-ttl",
“TRAP*

"copp-system-vrrp",

"TRAP",
17

Module
exception

6/6/24,

13:52
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Testcase
name Status

test_case 06.1 Passed

Commands

Commands: [

“copp_groups”: [
{

1,
“trap_action": "FORWARD",

“trap_priority": 1

1,
"state": "deleted"

e

Before: {
"copp_groups”: [
{

e

e

e

e

file:///home/shade/regression-2024-06-06-13-52-06.html

Before

“cbs": "100"
"cir': "100"
“"copp_name"

“cbs": "15",
“cir” ”15"

"Copp nane”: "copp-5",
"queue”

1,
"trap action”: "FORWARD",
"trap, prlorlt 1

"cbs": "3000",

“cir': "3000",

“copp_name": "copp-system-arp",
“queue": 10,

“trap_action": "COPY",
“trap_priority": 10

“cbs": "2000",

“cirt: 200",

“copp_name": "copp-system-bfd",
“queue": 20,

“trap_action": "TRAP",
“trap priority": 20

“cbs": "10000",
“cirt: "10000",
»COBp_nane-: “copp-systen-bp".

“trap_ actmn " "TRAP",

“trap priority": 14
"cbs": "300",
Teir': 3007,
“copp_name": *copp-systen-dhcp”,

"queue": 9,
"trap_action”: "TRAP",
"trapiprlorlty 19

"cbs": "5000",
"cir': "5000"
“copp_name": "copp-system-iccp”,

"queue": 16,
“trap_action": "TRAP",
“"trap priority": 16

“cbs": "1000",

“cir': "1000",

“copp_name": "copp-system-icmp",
“queue": 8,

“trap_action":
“trap_priority

“TRAP",
8

“cbs": 200",
“cirt: 200",
“copp_name": *"copp-system-igmp",

“queue”: 12,
“trap_action": "TRAP",
“trap_priority": 12

“cbs": "6000",

“cir': "6000",

“copp_name”: “copp-system-ip2me",
“queue": 7,

“"trap_action"

“TRAP",
“trap_priority": 7

webs: 500"
“cirt: 500"
“copp_name": *copp-systen-lacp",
"queue”: 23,

“trap_action": "TRAP",
"trap_priority": 23

"cbs": "500"
"cir': "500",

“copp_name": "copp-system-1ldp",
“queue": 18,

“trap_action": "TRAP",
“trap_priority": 18

“cbs": "500",
“cirt: "500",
“copp_name": "copp-system-mtu",

“queue: 4,
“trap_action": "TRAP",
“trap_priority": 4

“cbs": "5000",
“cirt: "5000"
“copp_name": *copp-system-ospf*,

queue”: 15,
“trap_action": "COPY",
“trap_priority": 15

“cbs": "5000",

“cir': "5000",

“copp_name”: "copp-system-pim",
"queue”: 13,
"trap_action":
“trap_priorit

"TRAP",
13

"cbs": "8000" ,

cirt: ”so@e”,

"copp_name": "copp-system-sflow",
"queue": 3,

“trap_action": "TRAP",

“trap priority": 3

“cbs": "16000",

“cir': "16000",

“copp_name": "copp-system-stp",
“queue”: 21,

“trap_action": "TRAP",

“trap priority": 21

“cbs": "2000",
“cirt: "2000",
“copp_name": "copp-system-subnet”,
“queue”: 6,

“trap action": "TRAP",

“trap priority": 6

"cbs": "3000",
"eir': "3000",

"trap_action": "TRAP",

“trap_priority": 11
“cbs": "100",
Teir': 1007,

"copp_name": “copp-systen-ttl",
“"trap_action": "TRAP

“copp_name": “copp-system-suppress",
11,

After:

After

{

“"copp_groups”: [
{

"3000",
"3000",
"copp_name": "copp-system-arp",

1
"trap action”: "COPY",
"trap prlcrlty 10

+
{
"cbs": "2000",
"cirt: "2000",
"copp_name": "copp-system-bfd",
"queue": 20,
“trap_action": "TRAP",
“trap_priority": 20
+
{
“cbs": "10000",
“cir': "10000",
“copp_name": "copp-system-bgp",
"queue":
“trap_action
“trap_priority":
3
{
“cbs": "300",
“cir': "300",
"copp._f name“: “copp-system-dhcp”,
“queue
“trap_: actmn": “TRAP",
“trap_priority": 9
3
{
"cbs": "5000",
Teir: "50007,
": "copp-system-iccp",
16,
“trap_action": "TRAP",
“trapiprlurlty 1 16
+
{
"cbs": "1000",
"cir': "1000",
"copp_name": "copp-system-icmp",
"queue": 8,
"trap_action": "TRAP",
"trap_priority": 8
+
{
“cbs": "2000",
teir: 2000,
"copp_name": "copp-system-igmp",
"queue": 12,
“trap_action": "TRAP",
“trap_priority": 12
+
{
“cbs": "6000",
“cir': "6000",
“copp_name": “copp-system-ip2me",
“queue": 7,
“trap_action": "TRAP",
“trap_priority": 7
3
{
500",
500",
“copp_name": “copp-system-lacp",
"queue": 23,
“trap action": "TRAP",
“trap_priority": 23
3
{
"cbs": "500",
"cir': "500",
"copp_name": "copp-system-1ldp”,
"trap_action": "TRAP",
"trap_priority": 18
+
{
"cbs": "500",
Teirt: "500",
"copp_name": "copp-system-mtu",
"queue!
“trap_action”: "TRAP",
“trap_priority": 4
+
{
"cbs": "5000",
“cir': "5000",
“copp_name": "copp-system-ospf",
“queue": 15,
“trap_action": "COPY",
“trap_priority": 15
3
{
“cbs": "5000",
“cir': "5000",
"copp_name” : *copp-systen-pin",
“queue": 13,
“trap action": "TRAP",
“trap_priority": 13
3
{
"cbs": "8000",
“cir': "8000",
"copp_name": "copp-system-sflow",
"trap_action”: "TRAP",
“trapiprlurlty 3
+
{
"cbs®: "16000",
eirt: ”16009”,
"copp_name”: "copp-system-stp",
"queue”:
“trap action”: "TRAP",
"trap_priority": 21
h
{
"cbs": "2000",
"cir': "2000",
"copp_name": "copp-system-subnet",
"queue": 6,
“trap_action": "TRAP",
“trap_priority": 6
+
{
“cbs": "3000",
“cir': "3000",
“copp_name": "copp-system-suppress”,
“queue": 11,
“trap action": "TRAP",
“trap_priority": 11
3
{
“cbs": "100",
“cir': "100",
“copp_name": “copp-system-ttl",
“trap_action": "TRAP"
3
{
"cbs": "500",
"cir': "500",
"copp_name": "copp-system-udld”,
"queue”: 22,
“trap_action": "TRAP",
"trap_priority": 22
+
{

Module
exception

Error: "No Error"
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Testcase Module
name Status User Input Commands Before After exception
“cbs": "500",
. “cir': "500",
: “copp-systen-udld”, “copp_name": "copp-system-vrrp*,
queue": 22, "queue": 17,
“trap_action": "TRAP", "trap action": "TRAP",
“trap_priority": 22 “trap_priority": 17
I 3
{ {
"cbs": "500" “cbs": "100",
"cirt: "500" “cir': "100",
"copp_name": "copp-system-vrrp", "copp_name": "default"
"queue": 17, }
"trap_action": "TRAP", ]
“trap_priority": 17 }
+
{
“cbs": "100"
"cir': "100"
“copp_name"
}
1
}
test case 06.2  Passed  Input: {} Commands: [] Before: { After: "Not defined" Error: "No Error"
= “copp_groups": [
{
“cbs": "3000",
“cir': "3000",
“copp_name": "copp-system-arp",
“queue”: 10,

“trap action": "COPY",
“trap priority": 10

“cbs": "2000",
“cirt: "2000"
“copp_name"
“queue”: 20,

“trap_action”:
“trap priorit

opp-systen-bfd",

“cbs": "10000",
"cir': "10000"
“copp_name": "copp-system-bgp",
"queue”: 14,

"trap_action":
“trap_priorit

"TRAP",
14

"copp_name"
"queue”: 9,
“trap_action": "TRAP",
“trap_priority": 9

"copp-system-dhcp”,

"cbs": "5000",

“cir': "5000",

“copp_name": "copp-system-iccp",
“queue": 16,

“trap action": "TRAP",
“trap_priority": 16

“cbs": "1000",

“cirt: 100",

“copp_name": "copp-system-icmp",
"queue": 8,
“trap_action": "TRAP",
“trap_priority": 8

“cbs": "2000",

“cir': "2000",

“copp_name": “copp-system-igmp",
queue”: 12,

“trap_action": "TRAP",
“trap_priority": 12

e

“cbs": "6000",

"cir': "6000",

"copp_name": "copp-system-ip2me",
"queue": 7,
"trap_action": "TRAP",
“trap_priority": 7

"cbs": "500",
“cir': "500",
“copp_name": "copp-system-lacp",
"queue": 23,
“trap_action": "TRAP",
23

“trap_priority":

“cbs": "500",

“cirt: "500",

“copp_name": "copp-system-1ldp",
“queue": 18,

“trap_action": "TRAP",
“trap_priority": 18

e

“cbs":
teirt:
“copp_name":
“queue": 4,
“trap_action": "TRAP",
“trap_priority": 4

“copp-system-mtu",

“cbs": "5000",

"cir': "5000",

“copp_name": "copp-system-ospf",
"queue”: 15,
“trap_action": "COPY",
"trap_priority": 15

"cbs": "5000",

"cir': "5000",

"copp_name": "copp-system-pim",
"queue”: 13,

“trap_action": "TRAP",
“trap_priority": 13

"cbs": "8000",

“cir': "8000",

“copp_name": "copp-systen-sflow",
“queue”: 3,

“trap_action": "TRAP",
“trap_priority": 3

“cbs": "16000",

“cir': "16000",

“copp_name": “copp-system-stp",
“queue": 21,
“trap_action":
“trap_priority":

"TRAP",
21

“cbs": "2000",

“cir': "2000",

“copp_name": “copp-system-subnet",
“queue": 6,
“trap_action": "TRAP",
“trap_priority": 6

e

"cbs": "3000",
cir': *3000",
“Copp_name": *copp-system-suppress",

"trap_action"
“trap_priorit

"TRAP",
1
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Testcase Module
name Status User Input Commands Before After exception
“cbs": "100",
“cir': 100",

“copp_name": “copp-system-ttl",
“trap_action": "TRAP"

h
{
“cbs": "500",
“cirt: "500%,
"copp_name": "copp-system-udld",
"queue": 22,

“"trap_action": "TRAP",
“trap_priority": 22

+
{
"cbs": "500",
"cir': "500",
"copp_name": "copp-system-vrrp",
"queue”: 17,

“trap_action": "TRAP",
“trap_priority": 17

{
“cbs": "100",
“cirt: "100",
“copp_name": "default"

Testcase Complete Summary: Total: 12, Passed: 12, Failed: 0
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